
SAP ABAP table COINT_TP_CHANGE2 {Mass Change Structure: Tab Index 2}

COINT_TP_CHANGE2

ICON_ID [CHAR (4)]

AUFNR [CHAR (12)]

BUSINESS_KEY [CHAR (50)]

BUZEI [INT4 (10)]

GUID [CHAR (34)]

KSTAR [CHAR (10)]

MEHT [UNIT (3)]

CURRENCY [CUKY (5)]

CSKA

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KSTAR [CHAR (10)]

 COINT_TP_CHANGE2-KSTAR = CSKA-KSTAR 0..N

0..N
T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 COINT_TP_CHANGE2-MEHT = T006-MSEHI 
0..N0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 COINT_TP_CHANGE2-CURRENCY = TCURC-WAERS 

0..N

0..N


